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c) 3sinAcosA
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If £ <9 < and sind = , then sin26 =

A -t b) 4 o 3
-4 o) 4

If cosf = §, the positive value of sin§ is
% 3 L b G s B B
2 3 B d °) 16 %

If cos A= %, then the positive value of tan %A is

g8 B 9l gl

\ sin2A4 .
The expression T equivalent to
a) sin A b) tanA ¢c) cotA d) 2tanA

Which trigonometric function is equivalent to the
sin2z .
sinw’

a) tanz b) cotx c) sinz d) cosz

For all values of A for which the expressions are

defined, _ 2;1 —sin A is equivalent to

Ccos

b) cosA  ¢) sinA  d) 2sinA

The expression sin Acos A + sin2A is equivalent
to

a) sin A(cos A +sinA) b) cosA+2sinA

d) cos A+ 2sin2A4

10.

i 8

12.

Date

. sin 2z
The expression s,—*—

in(—z)

is equivalent to

a) —2sinz b) 2sina

c) —2cosz d) 2cosz

In the interval 0 < 0 < 2w, the number of
solutions of the equation sinf = cos#@ is

a) 1 b) 2 c) 3 d) 4

If tanp = LEVE

in Quadrant

, then angle # may terminate

b) II or IV only
d) 1, 10, 01, or IV

a) I or III only
c) III or IV only

In the interval 0 < z < 2m, the solutions of the

equation sin?z = sinz are
3
a) 0,3, 7 b) 3, F
o 3n i 37
c) 0, %, F d) §,m ¥

Solve for #, where (0 < 6 < 27):

2sin” @ +sinf = 1
Exact values only.

2 3
&) 0) %:W b) %) Tﬂ'a_g‘
5 h B
% T d & T
T

5
e) 0: %: B %I



13. Solve for 8, where (0 < 6 < 27):
2cos’f — 5cosf = 3

Exact values only.
b) 0, ¥, &
d) EE T

-4y ’Tw
c) 0, %, T

4 5
) 5 &, x &,

Solve,

14. 2sin20—-1=0

_ -15._ csc? @ — 2csch =0

16. 2cos?6 + Tcosf =4

17. 54 4cosf —4sin26 =0

18. Which value of § satisfies the equation
2cos?0 — cos§ = 07

19. Which value of @ satisfied the equation
2sin? 6 — 551116 3=07

8) 300°  b) 210°

c) 150°  d) 30°

20.

21.

22.

23.

Page 2

What is one solution of the equation
(sinz 4 cosz)? = 27

s

a)% b) 2 ¢) % d) 0

A solution of the equation cos26 +sin28 = —1 is

a) 240°  b) 135°  ¢) 45° d) —30°

1

For which value of « is the function f(z) = —i—

undefined?

a) 0 b) c) § d) §

For which value of z is tan(z + 30)° undefined?

a) =30  b) 60 c) 150 d) 330

24. fove for X wnen 04y £2T.

sk COSDK — Sinlk SIndX = -i'zi



